C2 | Answers to the Calculator Paper
1 Mark 1 Know how to find a percentage increase 100 + 4.5 = 104.5% = 1.045
4
Mark 2 Use this answer to find value over three years 14000 x 1.045* or (%)
Mark 3 Calculate the answer rounded to the nearest penny. £16695.26
Full marks will be given for finding percentage increase each year for 4 years.
Year 1 £14000 X 1.045 = 14630. Year 2 £15288.35.
Year 3 £15976.33. Year 4 £16695.26
2 marks will be given for a percentage decrease 14000 x 0.955% = £11645.05
No marks will be given for adding 4 lots of 4.5% — 14000 + 4 X 630 = £16520
54 .
2 Mark 1 Appropriate fraction 360 or equivalent
54
Mark 2 Substitution into area formula 360 XmTX2X%X73
Mark 3 Calculate the length of arc PR 6.88cm
2 marks will be given for finding the area of the sector % X X 7.3%2 = 25.11 cm?
CB 12
3 Mark 1 Substitute into the formula . = —
sin 125 sin 30
12xsin 125
Mark 2 rearrange sine rule AC = —x.sm
sin 30
Mark 3 Calculate side AC AC =19.66cm
4 Mark 1Find the mean X = % =170
Mark 2 Complete the table of values for either formula
X xX—Xx (x — %) x x?
170 0 0 170 28900
169 -1 1 169 28561
164 —6 36 164 26896
172 2 4 172 29584
178 8 64 178 31684
167 -3 9 167 27889
Zx Z(x—f) Z(x—x)2 Zx sz
= 1020 =0 = 138 = 1020 = 173514
114 17351410202
Mark 3 Substitute into the formulae s = - s = - .
Mark 4 Calculate the standard deviation s=4.77
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5 —3+,/32-4x%x2%x(-1)

Mark 1 correct substitution into the quadratic formula X = 2
Mark 2 evaluate discriminant b? — 4ac = 17
Mark 3 calculate both roots correct to one decimal place x=0.3 and - 1.8

6 Mark 1 Know that APOS and ASOQ are isosceles and £PSQ and £0SR is are right-angles.
Mark 2 Use these properties to find angles ZQSR and £S5QR
Mark 3 Find angle QRS
£0PS = £OPS = 28°,
205Q = £0QS = 90° — 28° = 62°,
£LQSR = 90° — 62° = 28°
£SQR = 180° — 62° = 118°
ZQRS = 180° — 28° — 118° = 34°

There are other ways to calculate this angle.

7 2.7244.22-5.92
Mark 1 Substitute into the cosine rule coOsB = ———
2£;<2.7x4.2
Mark 2 find the exact value for cos B cosB = — prpeep —0.4356 ...
Mark 3 angle B 115.8°

2 marks will be given for angle A = 39.8° or angle C = 24.3° aslong as correct working is

shown
8 Mark 1 rearrange the equation sinx = —g
Mark 2 find the first solution x=217°
Mark 3 find the second solution x =323°
For an answer of sinx = —%, x = 37° 217° (or 323°) then two marks can be given

. 3 . L .
For an answer of sinx = o X = 37°, 143° only the first mark is given as the calculation
has been eased.

9 Mark 1 substitute into the formula for a cylinder V=mnx52x4
Mark 2 calculate the volume V = 314(.159)cm?
Mark 3 Use answer to form an equation 314 = g X XT3
Mark 4 Start to rearrange the equation 3124:3 =73
Mark 5 Find radius r=" % =5.3cm.

30 marks
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